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ACCOUNTANCYAND TALLY
Paper - II

(English Version)

Max. Marks : 50

SECTION - A
Note : (i) Answer ALL the questions. -09l3*=3-o-)"

(ii)

1. Define Depreciarion. ffi
Each question carries TWO marks.

2. What is Non-trading Business Concerns ?
3. What is Partnership Business ?

4. What is Rectification of Errors ?

5. What is admission of partner ?

6. What is Bank Reconciliation Statement ?
7. What is meant by Down payment ?

8. What is Revenue Expenditure ?
9. What is Hire Purchase System ?
O. Write about Strdight Line Method.1
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11 on l"tJanuary 2018 sivakrishna purchased a new machine for Rs.4s,ooo and spent
Rs. 5,000 for instarlation charges. provide depreciation at .ro% per annum, according to
fixed instalment method of depreciation. show the Machinery A,/c for first g years.

what are the ditferences between Receipts, payments Account and lncome-Expenditure
Account ? E&-9

write about the differences between Hire purchase system and lnstalment purchase
System.

4. How many types of Errors ? And explain them.

2
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SECTION - B

(i) Answer ANY FIVE questions.
( i i ) _Eq9[.lr:.rl9l-99-leg$I rnSrjs.
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15. X, Y are partners in a partnership lirm' They are sharing protits in the ratio 3:2'

Balance sheet as on 31-12-2fi)9

Llabilities Rs' Assets
Sundry Creditors 15,000 Cash

Bills Payable 10,000 Land and Buildings

X's Capital 30,000 Plant and Machinery

Y's Capital 20,000 Sundry Debtors

Closing Stock

75,ooo EfiE
Adlustments: HE{
1) Z is admitted as a new partner for 1/5 share, he

2) Appreciate on Buildings bY 20%

3) Depreciation on Plant and Machinery by 10%
' 

4) Outstanding expenses Rs. 1'0001

5) Appreciate. on stock value by Rs. 2'0001

Prepare Revaluation Account and Capital Account

16. A, B, C were partners in a partnership firm' Their s

Balance Sheet as on 31-12-2019

Rs. Assets
10,000 Cash
10,000 Land and Buildings

30,000 Plant and Machinery

30,000 Sundry Debtors

15,000 Closing Stock

95,000

: tii'-t{t

:H#

17.

18.

Rs.
10,000
30,000
20,000
10,000
s,000

75,000

brought Rs. 40,000 as Capital.

solX,YandZ.
haring protils in the ratio ol 2:2'.1 .

Rs.
5,000

35,000
25,000
20,000
10,000

95,000
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Llabilities
Reserve lund
Sundry Creditors
Capitals : A

B

c

Adlustmenls :

1) "C" decided to retire from partnership firm.

2) Land and Buildings increased by Rs' 8,000/-'

3) Provide reserve for bad debts 5% on Debtors'

4) Calculate depreciation on Plant and Machinery by 5%'

Prepare Revaluation Account and Capital Acc€unts of A, B' C'

Write.about the causes for DePreciation ? ffi
Prepare Bank Reconciliation statement as on 3lsMarch 2019 from thb followihg details :

a) Bank balance as per cash book Rs. 20,0001

b) Cheques sent for collection, but not collected Rs' 2,5001

c) Cheques issued, but not presented to bank for payment Rs' 1 ,0001

d) 5OO/- Rs. Bank charges are debited in pass book only'

e) 3,OOO/- Rs. interest amount is credited in pass book only'
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(Telugu Version)

SECTION - A
(i) er0p @6po5: 5:1,rp-65::oo 6l'otuXor.
(ii) $e3 @6p$ Oo6) X,,ttrire.

1. .6c!n16o5o 
365Dogn::.

2, 15)666 bobo qree)) erbn"S}: t

3. e,rfi)siJ5 JS)6o eroeJ l:$ce3 t

4. 65yo 556rd ebn"stu ? Effi
s. qrtt"ets 53ro ersn"35: t

6. ar5o5: Cer5e 55:b5o5: feJ erce3 5$ce3 r

7. 65.r? 30o{l (Down Payment) eroeJ 5lcu3 f

8. o"erd 55oI>5! erbn"Si: ?

9. erQ $$naw f{e! erSn-33r ?

10. 56d6er 5{e3 el5n35r ?

SECTION - B

5J.5Fer) : (i) 53p aoc @6po5: b:lrqbir:eD e'oI!sD.
(ii) pe9 S{S erLsc 5rCb6eu.

)

Max. Marks : 50

(10x2=201
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11. a55o 1, 2018 5 4551$ru. 45,000 d Sg oI)oqo"3g S5:Aaoo 3b, dI. 5,ooo *f5 ecbJeD

iBoa"c!. i:6 a"o::o"er 5{e3 p o$oL6o 5>5 forr3 10% bcr:r05erXro Sqo::344, a::oe.3

$ydr (3) So553o"o 565r o)3o16o er"rySJ bJ"OSx.

12. Sbrtbp - -OoQo eJ'E3"5, ee.J"oI: 55olro ere"S: Xo 6c"o5: @-ob5:r.

13. eQ $5cAao b{e33, a"o::o" gScAaer 5{e33 5c65 5ger"5}o: gol:o&.

14. 55yerc J$p 6s'o: r a"e3$ 35Oo[5>. ffi
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-l9l9=-39l

I

:



a
a
aItt
a
a
a
a
at
a
a
a
a
a
a
a
a
a
a
a
a
a
a
a
i
a
a
a
i
a
a

a
at
a
aI
a
a
a
a
a
ll
a
a
a
nIIt
a
a
a
a
a
a
a
a
a
I
a
a
a

ta tata taataa taaat t atta latat tatat!ta a t
lj rlfll
ts#

I ia a lr ll aatli t allatt an lntttrra laaaa at a

6rrru:
10,000
30,000
20,000
10,000
5,000

75,000
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15. X, Y e> e,5 qrrit5tuS 5o[d qrrXgoc. rcb 3:2 SfuQd o.qrcXo 5o$r$o6rqc$.
31-12-2009 ile3 er! er53:e ScJ

e3EeD
b.{5J
4IIfu 4fir.eD
$6u:, oSoqer"er:

DDS c$etfiq3w
5::Ao$ 5Ci:$

EIig
Er[lt

75,000

f6reJou)

1) Z 1/s 5or5r a.u<) Sg e,rn-qg$m 638""14 6I. 40,000 ep S::"er{5on EB;irr.
2) {f5il"s 5q:5 20% i,:o55Ox5c.

3) *"e.,oI>oL@"e $e>5 10% 6no550$r.
4) i0o55e)b5 55o5r"eD 6r. 1,000/-

5) Srnog 5cb5: 5eD5 61". 2,000/- bo550bJ.
$5tlrger5oSbo ere"Xu 5:6obc X, Y, Z 5:rs6$ qr"scoSo SoIrCb 3o6oe.

16. A, B, C er e"5 ertfu5\ So$d ayrrqger. n d, ereJ 5+\r$r 2:2:1 pfNqd folr$oeur1o3.
31-12-2019 a"d er!, erSrer 5{

e9SJ,reD Llrrrcr: s$cer: bfirel
0e6:5 CQ 10,000 SrdJ 5,000
3D{ cbeacrtSw 10,000 eIrSr,4f5d"oJ 35,000
5!"o6;J"oJ:A 30,000 +oCD, ol)oLa.t}) 2S,(x)O

B 3O,OOO s$d au:m11'fqgei: ZO,OOO

C 15,000 ;bfloO bcJc$ 10,000

bqr,e.H, 
95'(Do gs'fito

1) "C" arrrfu55 5of ;5:od S6$oobd&f,bJ.
2) 41}fu, 4fiil"e SeDi 8,000 6j,.ileD 3 bor€.
3) cbea(-,.go p 5% e0o{o $QC Squr 6or:od
4) +err, ol:olo"o p 6c$t{:doi! 5% O36o55OXo.

[5C1r6o"goS16 ero"5: XoOofu A, B, C Srrex5$ Eqoqodr 6oI]Cb 3o$oe.
17. 6ctA15e$ 6o s.6€?"oi! 6l.oboe. ffi
18. [3oA i5o"o Sood 31 SrOp 2019 5 er'5o$ So5o 55.:55oJ.: frJS EoIr"CrJ SoI)oe.

a) 5lfc5: OESo 6s"6o o"5o$ Ser5 6r. 20,000.
b) Sbrer:$ tro555}, 55rer s"C i$6o:6I. 2,SOO.

c1 e"6 Si>Snr, SOogS: ar'6o$ 5{ 6"ae)) s.p }$U.eD 6r". I,OOO

d) )S auSd SrgtSD aCI6355 ar5oS o{eu S00 drrroo.
e) )S el;Sd nrqdo gdd$l:r r{ o:"rruis,ooo.

I r) aaaaaltita taarat tt tt ttatallaartaaaa

er5:oer>

$3{ Cbeao"Seu

30obr 0eDe))

X 5:rod5o
Y Xu:"o{5o

SIrre>
15,000
10,000
30,000
20,000
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